CO$EL Three phase input type(2-stage filter)

TBC series(50,60,80,100,1504) | Tec -so_-es3

0] @ ®
. . (MModel Name
W Hnklo wmmcoslcalpeer Qraiod currns
[H Us —— *  (@Line to ground capacitor code:See table 1.1.

table1.1 Line to ground capacitor code

RoHS

Code Leakage Current I:;;Z?tg:ound
(Input 250/500V 60Hz) .
(nominal value)
223 1.0mA/2.0mA max 22,000pF
683 2.5mA/5.0mA max 68,000pF
104 3.5mA/7.0mA max 100,000pF

#When the line to ground capacitor code is
different, the attenuation characteristic is
different.

Features of TBC series

High-attenuation type of common mode noise from 150kHz to 1MHz (2-stage filter)
- Three phase rated voltage 500 VAC (voltage range:528V max)
- Selectable leakage current value

Specifications
No. | Iitems TBC-50-683 | TBC-60-683 | TBC-80-683 | TBC-100-683 | TBC-150-683
1 Rated Voltage[V] AC Three Phase 500 (voltage range:528 max)
2 | Rated Current[A] 50 | 60 [ 80 | 100 [ 150
3 Test Voltage (Terminal-Mounting Plate) 2,500 VAC (Cutoff Current = 100mA), 1minute at room temperature and humidity
4 Isolation Resistance (Terminal-Mounting Plate) | 500 VDC 100MQ min at room temperature and humidity
5 Leakage current 250/500V 60Hz 2.5mA/5.0mA max
6 DC registance 14mQ max ‘ 10mQ max | 10mQ max 8mQ max 6mEQ max
7 Safety agency approval temperatures -25 to +85°C (Refer to Derating Curve)
8 Operating temperature -40 to +85°C (Refer to Derating Curve)
9 Operating humidity 20 to 95%RH (Non condensing)
10 Storage temperature/humidity -40 to +85°C/20 to 95%RH (Non condensing)
11 Vibration 10 to 55Hz, 19.6m/s?(2G), 3min. Period, 1hour each X, Y and Z axis
12 Impact 196.1m/s?(20G), 11ms Once each X, Y and Z axis
13 Safety agency approvals UL1283, CSA C22.2 No.8 (C-UL) , DIN EN60939 VDEO0565 Teil3-1, ENEC
. . L 140X 80X 374 mm (W XHXD) 150 X 92 X456 mm (W X H X D) 190X92X482mm (WXHXD)
14 Case size (without projection) - - :
[5.51X3.15X14.72 inches] [5.91 X3.62 X 17.95 inches] [7.48X3.62X 18.98 inches]
15 Weight 4.3kg max 7.7kg max 9.6kg max

Circuit Diagram Derating Curve

LINE_C?a?sgi ,,,,,,,,,,,,,,,,,,,,,,,,,,,,XLOAD 100
i i
i — N
10 (00) (00 ba =80 \
‘ (004 (00 ‘ <
20 (o0 0 3 g%
30 : : 06 & 40 \
ertert ririrt 1a1d | S
| ! @ § 20
1 cv{ ‘ "
i YT i 0 ¢
! = = | -40 -30 -20 40 50 60 70 80 90
CY : Line to ground capacitor = : Mounting Plate Ambient Temperature [C]

* Keep free ventilation holes for cooling.

NF-74



TBC series (50,60,80,100,150A)

 CO$EL

TBC-50-[ | [ ]/ TBC-60-[ | ||

80
374 [3.15]
[14.72] 58
M4
323 = [2.28]
Protection Earth
[12.72] S
<8
© © S,
5 08080808 80808030 09090808 90803080 &
Input. (] 5308880 38803086° 05808080  ©808030° J_L 6-M5 @®
Terminal | | & 08080 080 080 080808 i 6-M5
— 090808 808 ‘ 808 8680680 Output
oT= i 808080 o680 | NamejPlate 080 980803 4 [ p
) > $ig'Input 303030 9g0 030 630303 Terminal
g|F § FniSTomnal [t , 59858 O89 585 CBBR o lmtll o I
i f f e, -
— & 4 B
L glo Input 9659090 00 09 090009 Eﬂé\ Terminal I
08686 (e} o) 08080 —
Terminal 095030 OO 0RO 05050/ = ~ [~
= 3 808680 980 080 980803 6 | H (]m:
- 303030 9g0 030 930393 Output S,
b 090908 95900 0~0202 959695 KT N Terminal
L] 08090909 95960690 09090209 95969690 D] — @
Fid 83035308 85808080 | 08080808 50305055
- | QS lg
i
2-$6.5 \ Mounting Plate / Terminal cover
[0.26] Mounting Hole 359 +05
[14.13]
3 Can not be mounted upside-down.
3 Tolerance : £1 [+0.04]
¥ Weight : 4.3kg max
¥ Chassis Material : Stainless steel t=1.0 [0.04]
% Dimensions in mm, [ ]=inches
3% Terminal block screw tightening torque M5:3.0N - m (30.7kgf * cm) max
3% Protection Earth screw tightening torque M4:1.6N - m (16.9kgf - cm) max
TBC-80-[ [ [ ]/ TBC-100-[]]
92
[3.62]
[17.95] M6 [2.58]
409 Protection Earth & 61
[16.1] [2.4]
n|o
; e
0600202 06900 00909092 (oo oe} S
R 808080308 3620308080 0808030808 Q68030808 (&) %ﬁj = @
Input [ 080808080 9808080808 8080808030 930808036 6-M8
Terminal = 0808080  0808080°0 000808080 9808080 = oMo ]
i 1 080808 808080 080808  8a8080 4 Outpu
b — 903080 980308 ' 808080 0803808 Terminal
S ol T 63085 03630 08630 53080 =
HE QG ! 030803 393030 | Name|Plate 030803 808080 [
o|T o= 1= =1L 0°0%°  95°cCs i 000 0% @ﬁ% _ Output )
0o ol 2 5 R~ Terminal
L, = 908080 080808 908080 080808 b= —
Input - 808080  a8aRal 8o8080  o8a8a8 = -
Terminal / I a 098989 9891393 098938 9393488 Ouput 1§
3 080808 908080 080808  Qa8a80 & Termina™N | 5
Input = 030808 908080 090308 03080 = ~—" 12
Torminal 00808080 9808080404 0000808080 08086804
erminal T 080808080 0808080808 8080808080 080808080 ] @
[ o 080808080 086803080 ‘ 530808080 0868080806 o[ wlz
| N
© o
2-$6.5 / Terminal cover
[0.26] Mounting Hole 44105 Mounting Plate
[17.36]

% Can not be mounted upside-down.

3 Tolerance : 1 [+£0.04]

¥ Weight : 7.7kg max

3 Chassis Material : Stainless steel t=1.0 [0.04]

3 Dimensions in mm, [ ]=inches

3% Terminal block screw tightening torque M8:9.2N - m (93.9kgf * cm) max
3 Protection Earth screw tightening torque M6:5.8N * m (59.2kgf © cm) max

NE-75



CO$EL | TBC series (50,60,80,100,1504)

92

[3.62]
65.5

[2.58]
61

2.4]

482
[18.93]
435 M6
[17.13] Proteﬂ)n Earth ©
© 019r0-E; O ~OROO SO0, & OO %@ gg
!I'eprlrjr:inal L ggg %ggégé gg % % g gé g gg é% % g ggg i& 6-M8
1 utpu
g® E" ) & i ?]g N o%o%o%o oéo%o%o Name|Plate o%oéoéo ogoéoéo Jj @E> %%ﬁiai
R ) = e mpad [yl
v 1 W 1 R
Terminal, / C@ gg 8§8§8§0 Oégégégégég g ég 8%0 s 8§8§u§§§ . _
2465 | °ls
[0.26] Mounting Hole 467 +05 Mounting Plate
[18.39]

NF-76

3% Can not be mounted upside-down.

3 Tolerance : £1 [+£0.04]
3% Weight : 9.6kg max

@

Terminal cover

3 Chassis Material : Stainless steel t=1.0 [0.04]

3 Dimensions in mm, [ ]=inches

3% Terminal block screw tightening torque M8:9.2N - m (93.9kgf * cm) max

% Protection Earth screw tightening torque M6:5.8N - m (59.2kgf - cm) max




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

Cosel:
TBC-100-104 TBC-100-223 TBC-100-683 TBC-150-104 TBC-150-223 TBC-150-683 TBC-50-104 TBC-50-223

TBC-50-683


http://www.mouser.com/
http://www.mouser.com/access/?pn=TBC-100-104
http://www.mouser.com/access/?pn=TBC-100-223
http://www.mouser.com/access/?pn=TBC-100-683
http://www.mouser.com/access/?pn=TBC-150-104
http://www.mouser.com/access/?pn=TBC-150-223
http://www.mouser.com/access/?pn=TBC-150-683
http://www.mouser.com/access/?pn=TBC-50-104
http://www.mouser.com/access/?pn=TBC-50-223
http://www.mouser.com/access/?pn=TBC-50-683

‘\ Y MOSCHIP RU g)?ﬂ%?aﬂ:wx KOMMOHEHTOB +7495668 12 70

© BMECTE Mbl CO3LLAEM BYOYLLEE B8 info@moschip.ru

O6LLecTBO C orpaHMYeHHON oTBETCTBEHHOCTBIO «MocHuny WMHH 7719860671 / KIMNM 771901001
Appec: 105318, r.Mockea, yn.LLlepbakoBckas 4.3, odmc 1107

[aHHbIn KOMMNOHEHT Ha TeppuTopun Poccuinckon depepauumn

Bbl MoxeTe npuobpectu B komnaHun MosChip.

[lnsa onepaTtuBHOro ocdopmnenus 3anpoca Bam HeobxoomMmo nepenT No faHHON CChISKe:

http://moschip.ru/get-element

Bbl MoxeTe pa3mecTuTb Y Hac 3aka3 and nboro Bawero npoekTa, 6yab To
cepuiiHoe Npomn3BOACTBO MM pa3paboTka eguHUYHOro npubopa.

B Hawem acCcCopTnMeHTe npencTasiieHbl Begywmne MmpoBblie NMPoOnN3BOANTENIN aKTUBHbIX U
NacCUBHbIX 3JTIEKTPOHHbIX KOMIMOHEHTOB.

Hawen cneumanusauuen sBnseTcs NOCTaBKa 3N1EKTPOHHOMW KOMMOHEHTHON 6a3bl
OBOWHOro Ha3HayeHus, npoaykummn Takmx npounssoantenen kak XILINX, Intel
(ex.ALTERA), Vicor, Microchip, Texas Instruments, Analog Devices, Mini-Circuits,
Amphenol, Glenair.

CoTpynHMyecTBO € rnobanbHbIMU OUCTPUOLIOTOPaMN 3NEKTPOHHBIX KOMIMOHEHTOB,
npegocTraBnseT BO3MOXHOCTb 3aKa3blBaTb 1 MOfly4aTb C MEXAYHAPOOHbIX CKNaaos
npakTuyecku nobon nepeyeHb KOMNOHEHTOB B ONTUMarbHble aAnsa Bac cpoku.

Ha Bcex aTanax pa3paboTKu 1 NPOM3BOACTBA HalLW NapTHEPbI MOTYT NOMy4YnTb
KBanumunpoBaHHy NOAAEPXKY OMNbITHbIX UHXEHEPOB.

Cuctema MeHeXMeHTa KayecTBa KOMNaHum oteevaeT TpeboBaHNAM B COOTBETCTBUM C
rOCT P MCO 9001, TOCT PB 0015-002 n 3C P, 009

Odomc no pabote c OPUANHECKUMU NTULLAMMU:

105318, r.Mockea, yn.lWepbakosckaa a.3, ocdomc 1107, 1118, AL, «LUepbakoBcKkuniny»
TenedoH: +7 495 668-12-70 (MHOrokaHanbHbIN)
dakc: +7 495 668-12-70 (006.304)

E-mail: info@moschip.ru

Skype otaena npogax:
moschip.ru moschip.ru_6
moschip.ru_4 moschip.ru_9


mailto:info@moschip.ru

